H & 0l & AHS B Ml A

S AerErE e
B NCIEHOEB| (B /BALS UL
ol deteErgae] EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AtCtE A ke 2,545,908 4,635,757 22,089,849
= 280,000
[ 335,000
= 35,400
Al 1,895,508
stetEZordae| (8 /8d2s et 2,487,588 4,559,882 N2,072,294
= 280,000
[ 335,000
= 35,400
Al 1,837,188
SHEtEE 2kl 506,000 3,393,655 A2,887,655
= 280,000
Al 226,000
22 A ZXAE X KE A 504,000 315,000 189,000
= 280,000
Al 224,000
402 2I2F X201 & 504,000 315,000 189,000
= 280,000
Al 224,000
02 RIINEASEZ(0IETHR) 504,000 315,000 189,000
OATE AFEE SXIAIE X XA
504,000,000 * 14 504,000
= 280,000
Al 224,000
SHEH HiE 2l 2,000 178,050 176,050
201 eer23y| 2,000 128,050 A126,050
01 AtR2t2lHI 2,000 3,000 21,000
Oststsd ot 2|/ Fo=E
100,000& x10E 22| 2,000
SHEHEHEZNA 820,080 796,400 23,680
= 335,000
Al 485,080
AtEtEFZAl 29 150,080 134,400 15,680
201 er23| 129,880 105,610 24,270
01 At2tltl 123,640 45,370 78,270
Oget+=ZHI 109,360
ottt EAQLAAD HA =5
150,000 23| 122 3,600
ottt BIELEA LD EHAY HOISXC
Bl 297,000 »80& 23,760
o=HEH A2F P
2,000,000 %14 2,000
oHIIREE BA =8
2,000,000 *40JH 2 80,000




S AerErE e
FAM: MCHERAOIM R (2 /S E S Y
CH|: AICHEHEZEA| (ool )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OfIgu=HI 6,000
oLE AY w=H| 2,000,000 +3% 6,000
Ooul=tl 780
obtt SEUAl HERP 22= 780
- 30,000 +6& 180
—QrM St 100,000 6 600
Ogxz 7,500
oIS AL YHEH SI HIES
500,000 *5CH*32] 7,500
® 2=2%| 6,240 60,240 A54,000
OZZ23 2 HAl 3,240
cBAUN HEESR UYI| ABR
50,0002 %3CH 122 1,800
SHAMH DM OIEU AR
40,0002 *3CH* 122 1,440
OAIZZHl |XId| 3,000
ofd A EE RAEs
3,000,000& %14 3,000
202 048l 5,720 5,780 260
01 2L AL 5,720 5,780 60
OuEt BiEE A H QEEZAL 22
110,000 2 +53] 1,100
Ottt HiEE A 945 QEZHAL 22
110,000& »2& *52] 1,100
O 2(BE S) B3N es8H=5
110,0002 x2& 4 & 22 1,760
OBEAIE Al 242 & SX
110,000& 2 +73] 1,540
OOIHIBIX 2 o3 93 &
110,000& x2&*12] 220
206 MH=HI 12,200 13,010 A810
01 MZH| 12,200 13,010 A810
OtiEga 23T AME AZUHF S 6,900
oRaM+d 1,200 *300H 360
o2 Zdli Mad 15,0002 1204 1,800
oZMHCioE (Z7) 12,0002 12004 1,440
oot HAU(104 ,LR0IS)
33,0002 *100H 3,300
OLtEt 3HEF AL BHES 5,300
oJ|ISERE 90,0003 »202¢ A 1,800
oJ|IEEXE 110,000& 202} A 2,200
odHE &at 10,0002 30 cll 300
ocUHA 500,000 <2H 1,000
301 Eet2 NS 2,280 3,000 AT20
14 0Bt 2as 2,280 3,000 AT20




S AerErE e
B NCIEHONBY| (B /BALS UL
el AtetErEZEA EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMTH BHQAD ZaD
30,0002 %32 %12 1,080
Outtt 2td38 2 #1901 S Adl2ds
75,0002 x4 300
OMEH IBAIRIE O - 2IESCHS DIZI0l &
B4 75,0002 x4 +33] 900
OIMIEIX SYHHE ol 2Al X2 (34) 670,000 662,000 8,000
= 335,000
Al 335,000
101 @12A4H| 606,673 530,230 16,443
= 303,337
Al 303,336
04 JIZtNZ22 XS 2+ 606,673 590,230 16,443
OOIMZHAI S EHHE ol - ZAl X2 A 606,673
Q2 78,8803 x17H+313& 419,721
= 209,861
Al 209,860
o= 0l 20,0003 x 172 +247 83,980
= 41,990
Al 41,990
oy AHI A 140,000 x17E 128 28,560
[ 14,280
Al 14,280
o HE S I 400,000 x17& 23] 13,600
s 6,800
Al 6.800
cARIEE = 55,711,2683 %14 55,712
= 27,856
Al 27,8%
oS 100,000 * 172 1,700
[ 850
Al 850
ol =] 200,000 *17H 3,400
= 1,700
Al 1,700
201 er2 3| 63,327 70,780 NT,453
[ 31,663
Al 31,664
01 AtR2t2|HI 53,927 60,540 26,613
Oget=ZH] 13,967
S AR ESH| 5,500,000 * 14 5,500
= 2,750
Al 2,750
o4y =23 7Y 5,667,000 14] 5,667
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B NCIEHONBY| (B /BALS UL
Rl MEEEZAI EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 2,833
Al 2,834
SUN - 2HE YXIAT 29
1,000,0002 %14 1,000
[ 500
Al 500
SAIZ TE - 24|
150,000 12| * 12 1,800
= 900
Al 900
Oogxz 39,960
oXltg gtz 750,000 « 12 =4 CH 36,000
[ 18,000
Al 18,000
CEHIARA(AHI0IH) SX2
330,000& * 122 3,960
s 1,980
Al 1,980
02 S3=gl 9,400 10,240 A840
OAIE2 &= X 1,000
o=Z&Hl FAE=4I
1,000,000 *14] 1,000
[ 500
Al 500
OXtg - &=t 8,400
ot == 8,400,000& 14 8,400
[ 4,200
Al 4,200
AHEHORM 2| 140, 160 25,662 114,498
[ 35,400
Al 104,760
AtCH OFX 2t 5,400 7,300 21,900
201 el 960 2,220 21,260
01 At2tlt] 960 1,200 A240
o=l 960
ol bte OHMEAS 960
—oree 30,0003 x4 & *13] 120
—etM S} 100,000& 4 & x13] 400
- EE= 110,000& 4 & =12 440
202 04l 4,440 5,080 A640
01 =LHAHI 4,440 5,080 2640
Odreh QiR orEaz| &
20,0002 x4 *142 %23 2,240




FA AtetErd el ot
T ACHEZOINBR|(22/2E A
el AtEetE e EER=E)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
OJtAotEate| dalst ws A
110,000& x2H+32«13] 660
OmIIQEBRI DI &A
110,000& x2&+32 «12] 660
OXzetetotd 2| ?I3sl efsslel &4
110,000 x2H x2 & #23] 880
AtCh QM 2oL & 16,760 18,362 A1,602
201 L2 13,930 15,180 A1,250
01 AtR22telbl 10,770 11,570 A800
Oget+=ZHI 8,370
SO =&AL AtRIE M
10,0003 +200 2,000
o 0f==AHEh =OICHIIAIE M} M=
10,0002 1005 1,000
SOIAEH OFRERIOl o AL B0t T
= 70,0003 #52] 350
o({=AtE QHMTHZS| O] B 4=0F A&
70,000 +20H 2-+23] 280
oML SSXX AU 720
i=Eob 150,000 #20H 2 300
- JUEE AY HXE
70,0002 +67H A 420
ot E3et el 2,240
-E=2=2 400&+5,0000H 2,000
i=Eob 80,000 *37H 240
SMHUS ANEHRE HAUH(GES) 7Y
30,000 *102+52 1,500
oMHUES ANEH &= M
70,0003 x2E5+22 280
Oo=2g=g 1,200
oTHHTHY SSHA ZeINsl AA 42
200,000& x6Z*12 1,200
Ogx=z 1,200
olbtl SEE & R2J|2E 39 F
A 2= 1,200,000& 14 1,200
03 A2 I 3,160 3,610 A4S0
O0{==4tet IS MIOILE SSEA 3,160
oXHIMN =& 940,000 %12 940
o QHMI|=MIOILE ZHXFOIAY
10,0002 * 150 1,500
o348t M 720
-—SuE 200,000 *3IH #1323 600
—AUs 60,0002 1 2:+23] 120
202 04l 1,870 2,210 A340
01 =LHOILI 1,870 2,210 A340
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B NCIEHONBY| (BT /BALS UL
el AtEetE e EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O R3stZHE ot deiaA7 MOILE &
A 110,000 x2Z 22 +23] 880
Ostat e s MAE ADILE &4
110, 0009 2% %22 x13] 440
O/t HEAID Ml s &4
110, 0002 2 %22 13 440
ONYIAALLD SEXX =L EHl XIS
mEs, 110,000 x 12+ 12 +13] 110
301 EtE NS 960 972 A2
11 #AIAHIXIZ S 960 ar2 A2
OO =4t HMTHE |2 FA4 XL Al
8,0002 %10 *23] 160
OSsSXAl ZHU=2 HFAX Al
8,000 *100&*12] 800
0243 K=ity SEAEAS AMESE XA 118,000 0 118,000
= 35,400
Al 82,600
403 MR HHMSAHE01H 118,000 0 118,000
= 35,400
Al 82,600
02 SVI2S0 U H=E S AL 118,000 0 118,000
OO =4ttt SEHM A X2
118,000,000 * 14! 118,000
[ 35,400
Al 82,600
AEEHDIZ 22l - 25 19,470 22,165 2,69
AEEHDIZ XMl 2el - 25 19,470 22,165 A2,69
201 er2&| 13,200 15,030 21,830
01 At2teltl 13,200 15,030 1,830
Odgt+==H| 12,480
oHJI=Z HEN M IES MNE
1,000 *50001 x4S 2,000
SAEEHIIZ 28 N=E8SHE MNA
1,000 *5000H*25 1,000
oftH =8 REAI UXHIIS Ml
5,000,000& *14] 5,000
oiNH HIMEE SHH|
2,000,000 x224 4,000
oHDI= S¥Xc 2& 82 S+% X
80,000& *37H 2-%22] 480
Ooul=Hl 720
oltHEHDIE HERE 225 720
—tNE A= 110,0003*3& *13] 330
—oHee 30,0003 *x3& *13] 0
aurakel 100,000& 3 *13] 300
202 04t 6,270 7,135 865
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MM AMTEtForM | (SHE /P E St
ol MICHHD|Z B2l - 2= (12l M2
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
01 =WO4bI 6,270 7,135 AB65
OHIIZ2 & - Melga ssHs
110,000 x2Z x2 2 23| 880
OHYI=2elY WS Y 43 MOoILE &
& 110,000 3B x2 2 23| 1,320
OHY|IS2ely | AlAH2l L AFASX
110,000 x1F 1 2 +53] 550
OAtHD |12 XEEH
20,0002 x2F 8L 11& 3,520
AMHEREA 329,440 322,000 7,440
FOIAHAL LS TAL AIZZ2IALS 318,760 322,000 A3,240
201 Ler2 | 112,000 108,000 4,000
01 At 22|l 112,000 108,000 4,000
OZERAL BN =5
2,400,0002 x50 2+9H 108,000
OFUAHAASEIAL AIZ22IBH XY
= 2,000,000 *14! 2,000
OFUAHLLSRAL AIZ22IES ot
2,000,000 14 2,000
202 04dl 2,760 2,760
01 =WOdbI 2,760 2,760
OsEdE Al A
20,0003 *2H 5 +53] 1,000
OFRIAVAEA D EA
110,000 x2Z x2 2 +23| 880
O=FUHLISTA R 2
110,000 2B x2 2 23| 880
207 AR 204,000 214,000 A10,000
01 A EFH| 204,000 214,000 A10,000
OFUAUASEIAL AIZ22IAIE 2S
204,000,000 » 14! 204,000
ACHEIAS A 22| 10,680 10,680
201 L2 | 9,480 9,480
01 Ar22eltl 7,080 7,080
Oget=2H| 6,720
cHEOI2E32 S35 S ZA ==&
300,000& 203 6,000
cAUBIIE ERHT A =8
10,000& *723] 720
Oul=t| 360
cAUSBIIE BARE 225 360
= 100,000 *3H 300
=&, otAa3, 2% 20,000 *3H 60
02 2324l 2,400 0 2,400
OAlE&EH| FXIdI 2,400
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FAM: MCHERAOIM R (2 /S E S Y
&l AtttErEEA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o0E0lgss2 Sl +=c
48,000,000 #5%=1CH 2,400
202 04dl 1,200 1,200
01 2L AL 1,200 1,200
ooelolgss2 A=83
20,0002 x2EH*32 +53] 600
OUS0ISAIE MHYE & XSS
20,0003 x2&*x32 +52] 600
= RESEE A 672,438 0 672,438
AtErEtd erM 2R 2 672,438 0 672,438
101 @124H| 268,482 0 268,482
MU IIRIMZENSES 268,482 0 268,482
Od&s 24NeA 2+ 253,812
oQIFY 78,8803 x8H 230! 145,140
oFFd 78,880 8 »435= 27,135
ocMaa 2
6,800 48 +2732! 14,852
cgYnRay
78,8802 x8EH x 142 x150f% 13,252
o022 41,5203 x8EH +75L 24,912
o2 Ld 41,5203 x8E 22 7,308
oMIEER 21,212, 9203 x 14 21,213
Ot - otd SE2MAE 22l 34 14,670
oo 30, 44021 * | 5 #507 10,255
oFELY 30, 44021522 2,051
oMEoIT PEAY
3,400 1H+5& x525= 884
oMeIEER 1,479,240 14| 1,480
201 ger=3| 403,956 403,956
01 Al222lH| 4,200 4,200
ozalga| 4,200
o - OIF SHRHME 201AH| S
350,000& 122 4,200
2 s5=34l 399,756 399,756
O332= % HAl 64,500
obttt IFAE NASHAEX &I H S
MRS 4,500,000 * 14 4,500
oSEZMUEH 28 &I & SMR=
60,000,000 * 14! 60,000
OAIZ&Hl sXbl 335,256
oRolithH)] OIS=EXE &Hl ¥ T2
=2 5,000,000 *14] 35,000
o0|SAl AFHAIZ NSHAEX - Xt =
=R 3,000,000& *14] 3,000




S AerErE e
FAM: MCHERAOIM R (2 /S E S Y
CHR AHEHERE OFN 2R M)
2 - e
M- B SRAEA) - HRAR - B2 e
otdsZEA AFIZLIEHE AIAE |X
2t 25,000,000& »14] 25,000
ostdsSHA AFHILIHE AIAE AL
S(dIA) wH 3,500,000 *37H 2 10,500
oAt AFAZ ISHAEX A2
2l 40,000,000& *14] 40,000
SOIHAHE OHFAIZ NSHFRT ARE(
HIA) R 2,000,000 *309H 2 60,000
SOIAAEH SO0 DUEZIAAY W &
Aee=m)| = sxEe
38,000,000 * 14 38,000
SOt BERAFHI| ARE(HAN)
WA 57,156
-l Roll=E2=801 223
2,381,500 *200H 2 47,630
~2FEFI| AQE
2,381,500 x40 & 9,526
o 04t VOCs=E | |AIZZ
15,000,000 * 14! 15,000
S O=AtE VOCsEE D] Il 223 (dAM) 1
Al 8,600,000 67K 2 51,600
dY2IFHI(AeteF2eln) (OIEHIIE 58,320 75,875 A17,555
=&l 58,320 75,875 17,555
Jl=&H| 58,320 75,875 17,555
201 =3 32,257 50,268 A18,011
01 At22telt] 32,257 34,988 A2,731
Ogt=ZH| SUA 4
12,522,000 * 14| 12,522
OS&tl SHAY 19,735,000& *14] 19,735
202 04| 21,863 21,407 4%
01 2L AL 18,023 17,567 4%
FAEE SHAHY 18,023,000 * 14 18,023
02 XN 3,840 3,840 0
Odtetetd ZAl 160,000 x2& * 122 3,840
203 HR=H] 4,200 4,200
M EAEER=A 4,200 4,200
Odtetetd 2ie| D25 ) 350,000& 12 4,200




